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3HQHOLWLDQ� LQL�GL� ODWDUEHODNDQJL�EDJDLPDQD�XSD\D�.38�.RWD�6RORN�GDODP�
PHPDQIDDWNDQ� 5XPDK� 3LQWDU� 3HPLOX� VHEDJDL� VDUDQD SHQGLGLNDQ� SROLWLN�� 7XMXDQ�
SHQHOLWLDQ� LQL� DGDODK� XQWXN� ��� PHQGHVNULSVLNDQ� XSD\D� .38� GDODP� PHQMDGLNDQ�
UXPDK�SLQWDU�SHPLOX�VHEDJDL�VDUDQD�SHQGLGLNDQ�SROLWLN�����PHQJJDEDUNDQ�NHQGDOD�
\DQJ�GLKDGDSL�.38�.RWD�6RORN GDODP�PHQMDGLNDQ� UXPDK�SLQWDU�SHPLOX� VHEDJDL�
VDUDQD� SHQGLGLNDQ� SROLWLN�� 3HQHOLWLDQ� LQL� PHQJJXQDNDQ� SHQGHNDWDQ� NXDOLWDWLI�
GHQJDQ�PHWRGH�GHVNULSWLI��3HPLOLKDQ�LQIRUPDQ�SHQHOLWLDQ�GLODNXNDQ�GHQJDQ�WHNQLN�
SXUSRVLYH� VDPSOLQJ�� -HQLV� GDWD� WHUGLUL� GDUL� GDWD� SULPHU� GDQ� VHNXQGHU�� GL�
NXPSXONDQ�PHODOXL�ZDZDQFDUD� REVHUYDVL� GDQ� GRNXPHQWDVL��8ML� NHDEVDKDQ� GDWD�
PHQJJXQDNDQ� WULDQJXODVL� VXPEHU� GDQ� WULDQJXODVL� ZDNWX� �WHNQLN� DQDOLVL� GDWD�
PHODOXL� UHGXNVL� GDWD�� SHQ\DMLDQ� GDWD�� LQWHUSUHVWDVL� GDWD� GDQ� SHQJDPELODQ�
NHVLPSXODQ� +DVLO� SHQHOLWLDQ� PHQXQMXNNDQ� EDKZD� � XSD\D� .38� .RWD 6RORN
PHQMDGLNDQ� UXPDK� SLQWDU� SHPLOX� VHEDJDL� VDUDQD� SHQGLGLNDQ� SROLWLN� DGDODK�
PHODNXNDQ�VRVLDOLVDVL�PHODOXL�ZHE�UHVPL�.38�.RWD�6RORN��PHODNXNDQ�NXQMXQJDQ�
NH� VHNRODK�PHODNXNDQ�NHUMDVDPD�GHQJDQ� IDNXOWDV� KXNXP�8QLYHUVLWDV�0DKDSXWUD�
0XKDPPDG� <DPLQ� 6RORN� GDQ� PHODNXNDQ� VRVLDOLVDVL� NHSDGD� WRNRK�WRNRK�
PDV\DUDNDW�
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